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1  dmport numpy
2 import math
3
4 MAXN = 6001
5 MAXM = 100001
6
7 n = dintCnput("n=7"))
8 m = intCinput("m=?"))
9

10  head = [0] * MAXN
11  nextl = [0] * MAXM
12  point = [0] * MAXM
13 weight = [0] * MAXM
14 total =0

15

16 def 1ink(x, y, z):

17 global total

18 total += 1

19 nextl[total] = head[x]
20 head[x] = total

21 point[total] = vy

22 weight[total] = z

23 total += 1

24 nextl[total] = head[y]
25 head[y] = total

26 point[total] = x

27 weight[total] = z

28 total += 1

29

30 for i in range(m):

31 X, Y, z = list(map(int, input("x, y, z=?(LLEZS5k)") .split(',")))
32 Tink(x, vy, 2)

33

34 dist = [math.inf] * (n+1)
35 wvisit = np.zeros(n+l, dtype=int)
36 queue = [0] * MAXN

37

382 (D

39 queue[l] =1
40  wvisit[1] =1
41 s =1

42 t=1

43

44 # HTH SPFA SR EE— AN 55 B AR 55 1 f B K
45 while (s <= t):
46 X = queue[s % MAXN]
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47 j = head[x]

48 while (j !'= 0):
49 if (2) :
50 dist[point[j]] = dist[x] + weight[j]
51 if visit[point[j]] == O:
52 t +=1
53 queue[t % MAXN] = point[j]
54 visit[point[j]] =1
55 j = nextl1[j]
56 3
57 s += 1
58
59 for i 1in range(2, n+l):
60 queuel[l] =1
61 visit.fi11(0)
62 visit[l] =1
63 s =1
64 t=1
65 while (s <= t):
66 # P MK R AR
67 X = queue[s]
68 j = head[x]
69 while (j !'= 0):
70 if (point[j] != i) and ((4) ) and (visit[point[j]l] ==
0):
71 5)
72 t +=1
73 queuel[t] = point[j]
74 j = nextl1[j]
75 s +=1
76
77 answer = 0
78 for j in range(1l, n+l):
79 answer += 1 - visit[j]
80 print(f"{i}:{answer-13}")
SEER
1 (1) dist[1l] =0
2 (2) dist[x] + weight[j] < dist[point[j]]
3 (3) visit[x] =0
4 (4) weight[j] + dist[x] == dist[point[j]]
5 (5) visit[point[j]l] =1
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import numpy as np

N = int(le5 + 5)
a = np.zeros((N * 4, 3), dtype=int)

def bt(x, 1, r):

a[x][0] =1

a[x][1] = r

if (1 == r):
return

mid = int((1 + r) / 2)
bt(x * 2, 1, mid)
bt(x * 2 + 1, mid + 1, r)

def chg(x, pos ,k):
if (alx]J[0] == a[x][1]):
a[x][2] = k
return
# JHR1E
mid = int(Ca[x][0] + a[x][1]) / 2)
if (pos <= mid):
chg(x * 2, pos, k)
else:
chg(x * 2 + 1, pos, k)
# B e R
a[x][2] = minCa[x * 2][2], a[x * 2 + 11[2])

def que(x, 1, r):
if (a[x][0] == 1) and (a[x][1] == r):
return a[x][2]
mid = int((a[x][0] + a[x][1]) / 2)
if (r <= mid):
return que(x*2, 1, r)
elif (mid < 1):
return que(x*2+1, 1, r)
else:
return min(que(x*2, 1, mid), que(x*2+1, mid+1l, r))

n = intCinput("n=?"))
m = intCinput("m=?"))
bt(1, 1, n)

x = list(map(int, input("nZEK=?(LLES2)") . split(', "))
for i in range(1l, n+l):
chg(1, i, x[i-11);

ans = []
while (m > 0):
m-=1
k, x, y = list(map(int, input("k, x, y=?(LLZ54FE)") .split(",")))
if (k == 1):
ans.append(que(l, x, y))
if (k == 2):
chg(1, x, y)

print( .join(Tist(map(str, ans))))
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